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e Please check that this question paper contains 25 printed pages +1 Map.

e Please check that this question paper contains 37 questions.

e Q.P. Code given on the right hand side of the question paper should be
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Wﬁlﬁﬂ:

(1)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

39 Jv7-97 H 37 Y97 & | @4t 3o AfHAard 7 /
J97-97 T: GUSI H [F9157 8- @US &, @, 7, ¥, U9 o/

GUE & - 97 CT 1 T 20 TglascTid JHR & J97 & | Ie4% Fo7 1 3% H1 & |

GUE & — J97 &7 21 8 24 37la7 TG-FRIT JHR & T97 & | I3 F97 2 371 &1
8 | 57 J9] %7 I 40 Jisd] @ 37feres 787 for@r Sar =Ey |

Qg T — o7 G&IT 25 & 29 TY-ITIT JHR & J97 & | I o7 3 371 &1 8 |
57 Y991 &7 3K 60 Isg] & e &1 forar S =ifey |

TS g - ¥97 G&IT 30 T 33 53707 JFR & F97 8 | Ie4H Fo7 5 3] T 3 |
57 Y991 7 3T 120 eq] & 3ferF &7 lor@r ST Fzy |

GUE & — Y97 G&IT 34 T 36 TR/ FIa-TeRa F97 & f57d &7 39-397 & |
Jed%h Jo74 bl FT 8 |

TUE o - J57 G&IT 37 HIHIET HIVIA-TERT 97 & Is/ad gt 917 & - 37 (a) 3z
(2 37%) 3137 (b) — YIIT (3 37F) | 3T J97 & FA5 37F & |

$4 3ldRs, €7 § 1% gieeaifa el & 1c7g %iel @1 qHl= 3l TR

Y] & T W U 37 Jo 1697 T & | §7 FH] & I AT Glocsiyd qieet &
i@ |

Eusg <h

(CRECTIPRT) (20x1=20)
FAfIigd JeTetl i HICHHATTER SAfedd hifve R T8 fashed &1 =w=H
Hifra | 1
I. %™ & i
II. 9 1 3ol W gHal
III. STl ohl Tehieh(Ul
IV. Toan sfa @ty
Tererew :
(A) L IL IV, I (B) 1L, 1V, 1, III
(C) ILIII IV (D) I IILII, IV

32/4/1-14 Page 2 of 27




NN\

General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Arrange the following incidents in chronological order and choose the
correct option. 1
I. French Revolution
II. Napoleon’s invasion of Italy

III.  Unification of Italy
IV. Vienna Peace Treaty

Options:
(A LIL1IV,III (B) II,IV, 1 III
C) ILILILIV (D) L IILIIL IV
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2. Tk T &1 qfd o foie w8t fashed 1 =99 HIT |
T ant (faes ®<¢) & aRd 9 gfrgd uften i < gEt 9
H uged 9 |
(A)  EH g EE % AT
(B) hUS 9 AT
(C) FW 9 g™
(D) & 9 3= 9rgqu

3. U & Wd TS el & GEUehl O et @t faehed 1 waw i |
(A) U Ig 919 9 TG 8%
(B) AR HUATH I AT TR
(C) HI.3R. TE 9 A T8
(D) HECH e 9 TER 9o

4. fafafas & @ frem a1 6 - “ggu fvex A1 § g€ weHaw @ R, TE T
qEwr |7 2

(A) IR W
(B)  TgTcHT Tiedt
(C)  SIgH TeAer
(D) Torged oeft

5. IR @ e few mu | 3 aafirsmed (A) 3 RO (R) B | AT el Wl ufen
3 TE forehew 1 ==m it |
SHYT (A) : TeATad # Uig Taueh! TGie s &l B a9 hels Ushd H
hHIATT T |
HRU(R)  : 39 G T gl hl SfaAl 1 TN Hleh AR
IR IATH <l T ST TR |

forerea :

(A)  (A) 3R (R) g1 T E, AfrT (R), (A) i &l =ame 757§ |
(B) (A) 3R (R) qHI H&l @ AN (R), (A) H T8l RT3 |

(C) (A F& 7, dfh (R) TeAd 2 |

(D) (A) Teid B, AT (R) @81 2 |

32/4/1-14 Page 4 of 27




NN\

2. Choose the correct option to fill in the blank. 1

from India and Southeast Asia travelled through ‘Silk Route’
to other parts of the world.

(A)  Gold and silver ornaments
(B)  Clothes and spices
(C)  Grain and pulses

(D) Iron and other metals

3. Choose the correct option, related to the founders of the ‘Swaraj Party’
within the Congress. 1
(A)  Subhas Chandra Bose and Jawaharlal Nehru
(B)  Acharya Kripalani and Jayaprakash Narayan
(C)  C.R. Das and Motilal Nehru
(D) Mahatma Gandhi and Sardar Patel

4, Who among the following said — “Printing is the ultimate gift of God and
the greatest one.” ? 1
(A) Martin Luther
(B) Mahatma Gandhi
(C)  Johannes Gutenberg
(D) Rashsundari Devi

5. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas
successfully resisted deforestation in several areas.

Reason (R) : Through this, community afforestation campaign with
indigenous species was made enormously successful.

Options:
(A) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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6. Y I T Y 11 ¥ v 3R Tl foaehey o1 === hifvw |

&y I &y 11

(a747) (7a1)
i TER W a. gags
ii. BNIHS b. M
iii. YTE@ST ATTA c. HHar
iv. :l'lTl'Iﬁ:[ d. #egMEd
forerea :

(A)  i-a, ii-b, iii-c, iv-d

(B) i-b, ii-a, iii-d, iv-c

(C) i, ii-d, iii-b, iv-a

(D) i, ii-d, iii-a, iv-b

7. YA ¥ TS % 3ared A Fafafed =i & ofw (wfasa #) & foru erfereram

Y =IaH Y dTcT Hal foehed s =3 ShiT |

(A) U YN, HENISE, hideh, SASI;M

(B) HeH Yq¥l, HENISZ, SIS, HeAiceh

(C) WENISE, WEA TQ¥, hriceh, S

(D) WENISE, AT, HEA YT, Hleeh

8.  TWl % R & U H feu U qenl ol ufeu R T&t fosheq 1 =@ Fifvw |
I.  9&UTd <hl GHEHT bl A HdT 3 |
II. ol o= < ufshan i ereeg et 2 |
1. fafaydmen 4 amsr= wenfud =t g |
IV. o1 H Al i Yriier! =1 9T g |
forerea :
(A)  Headd I I19 IITEE 8 |
(B) had IL, III 9 IVTS % |
(C) Haad LIIF IVHSR T |
(D) Haa LI IVEE 7 |
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6. Match Column I with Column IT and choose the correct option. 1
Column I Column II
(Dams) (Rivers)
1. Sardar Sarovar a. Sutlej
ii.  Hirakud b. Krishna

iii. Bhakra Nangal c. Narmada

iv.  Nagarjuna Sagar d. Mahanadi
Options:
(A) i-a,ii-b, iii-c, iv-d
(B)  i-b, ii-a,iii-d, iv-c
(C) i-c,ii-d, iii-b, iv-a
(D)  i-c,iid, iii-a, iv-b
7. Choose the correct option for the following States’ share (in percentage) in
the production of ‘manganese’ in India from the highest to the lowest

order. 1
(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha

(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka
(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha
(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka

8. Read the arguments given in the favour of power sharing and choose the
correct option. 1
I. Reduces the likelihood of bias.
II. Barricades the decision-making process.
III. Accommodates diversities.
IV. Increases the participation of people in power.

Options:

(A)  Only]I, II and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Only I, III and IV are correct.
(D)  Only I, IT and IV are correct.
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9. NI dfaum § afvfa Trer’ frfafaa § @ fopg g=h & ofaria ot g 2
INEEE:CEC il
B) T gl
(C) dwad gt
(D) STeht 5l fawy

10. 1992 § YRd W dfgus e e Ffafed @ & fora aen o nfgenedt &
o armeqor Sht seEen Y TS 2
(A) @ |
(B) TSI aw
(C) Taum uitwg
(D) ERd

11. = 3 e fm e 2 | Sfiemed (A) 3R FRW (R) € | T Al i AfeT
3 TEt forehew 1 =Em it |
STYHYT (A) : I TAlhad TSI Gl oh (T Tg1 el Fehd & |
FRU(R) - THaitaq Sy had ToH-319q Fateq-am1 & gfd samees
g, 3w o ufd & |

Tererey .

(A) (A T 7, AR (R) TTed & |

(B) (A) Tid g, ifehd (R) &8l 3 |

(C) (A 3R (R) aHI @&l & 3R (R), (A) ! H&l =1 8 |

(D) (A) 3R (R) <Hi @&l &, AfFT (R), (A) T wet == 757 2 |

12. T=fafea <o o @ forew fegei saagen g 2
(A) =M (B) dTfeh&d™
(C) EIH TSI WG (D) %™
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9.

10.

11.

12.

‘Education’ falls under which one of the following lists given in the Indian
Constitution ? 1

(A)  Union List

(B) State List

(C)  Concurrent List
(D) Residuary Subjects

In which one of the following institutions in India was a system of
reservation for women made by amending the Constitution in 1992 ? 1

(A) Lok Sabha

(B) Rajya Sabha

(C) Legislative Council
(D) Panchayat

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Modern democracy cannot function without political
parties.

Reason (R) : Elected representatives will be accountable only to their
constituencies, not towards the country.

Options:

(A)  (A)1is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
Which one of the following countries has a two-party system ? 1
(A) China (B) Pakistan
(C)  United States of America (D) France
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13. T=fafiga # © form &3 o afgensti 1 1o+t Uiy wE@l (2018) | wfdhHfRea

gay AT ot ?

(A) Fifésw o

B) i (30 T <)
(C) I

(D) TRREN

14. ehad bl FAfaRaa foiwdrett =1 afeu 3 w&l foemey o1 === HifST |
I. %9ad wd g g
II. S % 998 GHH

1. =afeh shi TR
IV. SgH&I &I e
foremea

(A) had L I19 [T § |
(B) had IL IS IVEE 2 |
(C) e LIIa IVES E |
(D) wad LI VTR 7 |

15. 0 & ey # Afafaa afifeafa =t 9fgu 3 ko1 & GhricHss gwmE <hi

[aNaN
gqadld <h[lST |

TelTH 3T o ToIu hrieiel YSf <Rl F&Ld i 3R0T o gRI IU AT & | 3’01 34
ICAICA h HRIRNA Gl qAT IcdTGH ol THI T YU i H GG hidl 3 |

a9 .

(A)  EAM TR 1 YR 9¢ ST |
(B) G| <hl HATS §¢ ST |

(C) 3cTed H HHT Mt |

(D) ElW 01 % 55k H B HhT B |
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13.

14.

15.

In which of the following regions was women representation the highest
in their respective National Parliaments (2018) ? 1

(A)  Nordic countries

(B) America (North and South)
(C)  Europe

(D) Asia

Read the following characteristics of democracy and choose the correct
option. 1

L. Free and fair elections

I1. Equality before law

III. Dignity of a person

IV. Majority rule

Options:

(A)  Only I, IT and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  OnlyI, IT and IV are correct.

Read the following situation regarding credit and identify the positive
impact of credit. 1

Salim obtains credit to meet the working capital needs of production. The
credit helps him to meet the ongoing expenses and complete production
on time.

Impacts:

(A)  The burden of credit will increase on Salim.
(B) Salim’s income will increase.

(C)  The production will decrease.

(D)  Salim may get stuck in a debt trap.
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16. Tfafga foa &1 tem e | g 4 81 oo o SAdferaEd &
frfafga & o fpm & & <Idtia amar & 2 1
(A) STt
(B) Tgdtaeh
(C) qdreh
(D) <qIH

Fig: [[Efciad Jv7 #ac gheanea qheniael & g Jv7 G&a 16 & T |
g/

freafafiad 4 & fre &k H feeedl 9Rd o dohal W 3ag (SELd.) |

Taiferes B 2 1
(A) SR

B) g

(C) qdreh

(D) =gdeh
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16. Study the following picture. The work done in the picture comes under

which one of the following sectors of the economy ?

(A)
(B)
()
(D)

Note : The following question is for the Visually Impaired Candidates only,

Primary
Secondary
Tertiary
Quaternary

in lieu of Q. No. 16.

Which one of the following sectors has the maximum share in the Gross

Domestic Product (GDP) of India ?

(A)
(B)
(®)

(D)
32/4/1-14

Primary
Secondary
Tertiary

Quaternary
Page 13 of 27
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17.

18.

19.

20.

F= g1 wea for e E | 3 firmem (A) 3R HRW (R) § | gHT Al Wi ufew

3R T faehed &1 934 HIT |

STYHYT (A) : WRA H b3 W ARk HMAA AR T T H IERAN i ITETHRR
T&l T TehdT 7 |

HRU(R)  : WA H &Y I T TIHR IR el 3 |

ey ;

(A)  (A) 3R (R) gH1 &l & 3 (R), (A) T TE =T 7 |

(B) (A) 3IR (R) gHI @&l &, Tk (R), (A) ! T&l =T 737 % |
(C) (A) @& g, dfhd (R) Toid ® |

(D) (A) TeAd 8, Afh (R) T& 2 |

fafafigd O @ SH-a1 S AR & T 1 &l 9uH HdT 8 2
(A) IR W K Teefi AU Sl g

(B) 3] \Ylnlol"l %d{alﬁ HAGIH enddl

(C) <= & o= dig 7fd 9 Tehiehtur T

(D) foesft wufaat = steiva @ & fow fomiy %eq Sam

G® g T SR (FT.81H.) HHfdigd ¥ & 6 M9R | AHd
e fate’ genTfara sHiat & 2

(A) Tafmfo, e i e

(B) firan, waweex 3R ufd =i 3

(C) TSI 319, Tged 3N dfh

(D) ¥ TR 3G, TEfEh 3R =R

=9 @ wom fiw mu | 3 wfiekem (A) TR wRW (R) § | gFT Sl @I dfew
3R TE faehed &1 =3F HIRT |

SFHYT (A) : S D el 1 Hol & b fIT AL 7L B 7 |

FRU(R)  : FS A I RIMYR &l 2al 2 |

ey

(A)  (A) 3R (R) gH1 T&l & 3 (R), (A) T TE =IE=AT 7 |

(B) (A) 3R (R) gHI @&l &, Tk (R), (A) ! T =T 737 2 |
(C) (A) TE g, AT (R) Toid ® |

(D) (A Tod 7, AfhT (R) @& 2 |
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17. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : No individual in India can legally refuse a payment
made in rupees.

Reason (R) : In India the rupee is authorized by the State
Governments.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.

18. Which one of the following statements best describes the meaning of
‘Globalization’ ? 1
(A) Removal of tax barriers on trade
(B)  Providing higher standard of living
(C)  Process of rapid integration between countries
(D) Taking special steps to attract foreign companies

19. On which of the following basis does the United Nations Development

Programme (UNDP) publish the ‘Human Development Report’ ? 1
(A)  Manufacturing, Infrastructure and Health

(B) Education, Health and Per Capita Income

(C) National Income, Health and Banking

(D)  Gross Domestic Product, Technology and Innovation

20. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Banks are not ready to lend money to certain borrowers.
Reason (R) ;' Some people do not have collateral.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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21.

22.

23.

24.

25.

26.
27.

28.

29.

W is @
(stfer Tg-3TE wee) (4x2=8)
“Sedt Tt 9 WU T T TR @ 1 & U o1 |7 39 HAA 1 averm
in\ﬁQ | 2
T o 3T Toeh™ o ToTT Hofl fohdl SRR Teh STMYTYA STTA93hal & ? 3Gl
gfga Tose Hifse | 2
(a) WRA ! HECHS Fawel H Higgw i gt w1 whew @ faget b
i | 2x1=2
AT
(b)  WRd ! HETcH FIEAT H Faied =A™ %! YfHet 1 we q faga
T $ifre | 2x1=2
Trenfiehl foh SRR I9aiehttl 1 Tsh AUl ®eh 7 ? el digd TI
éli\aQ | 2
@UE T
(FTg-3v{ IeA) (5x3=15)

(a) U Eeq o iy axgmEl, &= a1 wisti § deg STe-3TerT 9g
q HH[Eeh AT h1 WG hd Tohfa foham ? 3gmeton |fgd ¥use hiviw | 3

AT

(b)  “Hgrem T % fomml o TaUe N STAYURON % IR H HAGH hI T

gae oft |” 3eTEn fed 39 YA shl AT <hIfT | 3
YR § "I 3 i N i fopegl o9 fomiwaredt s qui shifse | 3x1=3
SHTq-fafor & Tefifaes et st yftrest @1 faveryor Hifv | 3
“Oefilr YT SIEAT UehIcHeh YT SJIEAT T 3l 3¢ 8 |7 39 T hl I
éli\ﬁQl 3
o & faem & fawy § fafsw o hi arond i =0 8 gehdl 8@ 2 3|
Higd saE hIy | 3

32/4/1-14 Page 16 of 27
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B
(Very Short Answer Type Questions) (4x2=8)

“Until the nineteenth century, poverty and hunger were common in
Europe.” Analyse the statement. 2

How is energy a basic requirement for economic development of a
country ? Explain with examples. 2

(a) Examine the role of the Constitution in the Federal System of
India in two points. 2x1=2

OR
(b) Examine the role of the Supreme Court in the Federal System of

India in two points. 2x1=2

How is technology an important factor of globalisation ? Explain with
examples. 2

SECTION C
(Short Answer Type Questions) (6x3=15)

(a) How did people belonging to different communities, regions or
language groups develop a sense of collective belonging in the

National Movement ? Explain with examples. 3
OR
(b)  “Workers had their own understanding of Mahatma Gandhi and
the notion of ‘Swaraj’.” Explain the statement with examples. 3
Describe any three features of cultivation of millets in India. 3x1=3
Analyse the role of political parties in shaping public opinion. 3

“Federal form of government is in direct contrast to the Unitary form of
government.” Explain the statement. 3

Why could different persons have different notions of a country’s
development ? Explain with examples. 3

32/4/1-14 Page 17 of 27 P.T.O.




Wus Y
(e 3w we) (4x5=20)

30. (a) “WIEEl I A HIEE AN H Uh A(EHh GeaH i WEAl dar 6t |7

SUITH Tehl HAled 36 e i SATEAT THIT | 5
AUAT
(b) “IOH % TaaFan TUH 4 W P9 § i srfiema ot § Ui wraenst
1 o for |” Ik ot |fgd 38 oM i e HIRu | 5
31. (a) % oMk foepre o faftmbor e it sifirert o1 avia Hifsw | 5
AYAT
(b) 3Tk YGWU § =0 S i g9 o fAC IS T foheal qi= HgHi
U I | 5

32. (a) g fafaydr § grses & AU diehdd & 95w &1 fawamn hifse | 5
AAAT

(b) TS TR SHHAAT ohl hH HT H Alhad % Hawd ol [a9eiuul HIfTT | 5

33. (a) “orEnfed & § Afehl I EX&U 3R FERdT I AEOwIhdl 2 |

3N 9igd 39 o4 sl 9@ hifvu | 5
HAAAT
(b)  “Fh &er <t mifafafern w1 < ey rfsla s grar 1”7 Iersn afEa
39 Y hl TE HIfT | 5
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/1-14

SECTION D

(Long Answer Type Questions) (4x5=20)

“The French Revolution created a sense of collective identity
amongst the French people.” Explain the statement with suitable

arguments.
OR

“The Greek war of independence mobilised nationalist feelings
among the educated elite across Europe.” Explain the statement

with suitable arguments.

Describe the role of manufacturing industries in the economic

development of a country.

OR
Describe any five steps taken to save fresh water from industrial
pollution.
Analyse the importance of democracy in accommodation of social
diversity.

OR
Analyse the importance of democracy in reducing poverty and

inequality.

“There is a need for protection and support of the workers in the

unorganised sector.” Examine the statement with examples.
OR

“Activities in the private sector are guided by the motive to earn

profits.” Examine the statement with examples.
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34.

35.

Qe &

(RE-ATHTRA / FA-STTRA T9) (3x4=12)

fow e i 1 g s 33 A e e % T AR

1857 % fogig & 91 9 it Todaar & Ufd WA S T | g S 7
T U9 1 4g 9 B hI AT HI | SAI-SAT WINT3 THER-IF TG § THLH
o gEX gd T, -l ufate @R ¥ % v % yae W §8d o
B T | BRI UH HMAT % d9 W 1878 H THIER Y& Ude AN L T
T | $9Y AR I AN Y8 H 6 T 3R TYIGehT i HEL i 1 AT
T Ud T | o1 ¥ TR 4 fIfve ween @ | arer vmwTs omee it W fafia
TR W@t I[E A & | TR Torefl e =t arft SR foan Srar o @ TEeR i
qEc Sdrat af STl oft, 3T SR Sdre i SEHT g3 a1 @SR hl Fed fora
ST EehdT o1 37X BUTS hI WM B <l 1 Fehell off |
(34.1) ‘TATFIER & U’ Tohd T W STreicg o 2
(34.2) 1857 % Togiz o oG I8 I Waaal % Jid TS 1 WA I d¢d

T ? TeE T |

(34.3) ‘TATFIER Y8 U’ AT 8H o fehral Q1 TWTAT chl SATEAT hHIToIT | 2x1=2

fau T =ra Wi dfgu 3R 35 = g 7u gt & I G

FaTEl FT T - qEed fhet Wt TE o o™ § el e FHETd
2 | g TEneEt o1 foeerga 3udT 3 i -3uRT % SR e ATk -3Tiden
3t el Fued e B Hehdl B | 3 wuenett ¥ s=ra o o fafte v
T HHTGA] T ST SAGRTH 2 | YA W Bl GHIHA] 1 G0 §gd | AdH]
3R Todeni & oI foran =1 fowa @1 7 | Seretond, TS 3 et % e
R 39T a1 37 el H Sk hl B — “BHR 9 & Ak hl MavIRdl Ifd
fere 9 dgw% ww%&ﬁ%wﬁé‘g’@%mﬁ |3wiﬁsnﬁtrr{:rﬁz
HH % foTU 98d &, ifehd 98 9 o g 98l 17 3eh ITER fava T W
Wsw%mgmmwﬁ?@?ﬁ@ﬁﬁﬁ%aﬂgﬁmsﬁﬁﬁw

gt ER 8 | 3 3Tcfeh Icuied o favg 9 3R 36 TOH W 3ifuss o8
TTIYER g 3cIE o Jeer o |

(35.1) TEmeH e ot ufanfya i | 1
(35.2) TETYAT o G h STTTIRAT hl TISE T | 1
(35.3) TS = T et b — %ﬂﬁqlaawlmﬁwﬁ
$S 8, b Thdl o TATCTE hl Fqfee o T &l ? fohegl Wﬁ
forgemo Hifse | 2x1=2
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SECTION E
(Case-Based/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

After the Revolt of 1857, the attitude to freedom of the press changed.
Enraged Englishmen demanded a clamp down on the ‘native’ press. As
vernacular newspapers became assertively nationalist, the colonial
government began debating measures of stringent control. In 1878, the
Vernacular Press Act was passed, modelled on the Irish Press Laws. It
provided the government with extensive rights to censor reports and
editorials in the vernacular press. From now on the government kept
regular track of the vernacular newspapers published in different
provinces. When a report was judged as seditious, the newspaper was
warned, and if the warning was ignored, the press was liable to be seized
and the printing machinery confiscated.

(34.1) On which rule was the ‘Vernacular Press Act’ based ? 1

(34.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857 ? Explain. 1

(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.” 2x1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources : Resources are vital for any developmental
activity. But irrational consumption and over-utilisation of resources may
lead to socio-economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had
been the main concern of the leaders and thinkers in the past. For
example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and
not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for
resource depletion at the global level. He was against mass production
and wanted to replace it with the production by the masses.

(35.1) Define the term ‘Resource Planning’. 1
(35.2) Explain the need for conservation of resources. 1

(35.3) Why did Gandhiji say — “There is enough for everybody’s need and
not for any body’s greed ?” Analyse any two reasons. 2x1=2
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NN\

36.

37.

few v gra #1 ufew IR IEes = fau MU ywAT % IR G
FghRT iufaat 9w

Sonl o ITATAT TTHIUT & § TEd KT hl Ush A GId Tghr) aiufet 3 |

FEhIl AU o FEA 39+ THTEHT I S &A1 H HgaT o [T Tha Hd ¢ |
3 bR <hl Heehl wiufaal gwa €, S8 — forami, Rt T SHtenfies weigl

SCATTG oh! HEhII AT | FHYh TghRl AHIA FYL h A9IGh Teh Md H A

HA 2 | 3Hh 2300 fhEM e 2 | IE AU HEENT H SHT YT hLdl

g | 39 SMT ¢S Sl RUMYR A U, 39 TRl GHfd 7 5o § T8 RO I
R 2 | 38 ISt 1 SWHTA WS il Sl of o fow TR Smar 7 | Ag ww

I o &G st ol GHU QR Y& foRaT ST Eehal @ |

Yk FEHN GHMd Y IUHT Glied, @l A HY AR A, TS

T, T S 3R 317 fafia yepm & @l o foiw ==or gaen st 7 |
(36.1) “Teeptdt wiufa’ wor’ & g |ia 1 3T B 2

(36.2) TTHIUT T T TEwRl ATl o ANTEH hi SRS il |
(36.3) TII-TEAT AHGI <h! Yoil oh fohral I GGl I I T |

Q@UE o
(ATt RrvTA- TG W)

2x1=2

(2+3=5)

(a) WA oh U T ToHITqh WI-AHERT (I8 27 W), § & $AME hl ‘A’ 3R

‘B & ®9 H Afrd foram mn 2 | fafafga Smepi B g8/ 9 3=

JEeTHY 3T 3ok Fgl I 3k THig Eist 75 Wreh ) o :

A. T8 TIE & TSt 9 i H @dl v 9 fREE g

garg TR o |

B. 98 TUM gl MY 7 THh hid qreT o7 |

(b) WRA & sH ToHIfdes WarAmrs H, efdafed @ @ fedl @7 &t

39k ol © guifse 3R 3 am fafau -
(i) eI —dd &

(i) =R — Y@ HIIA! GH

(iii) ORI — GEATY] o1l 93

(iv) TR — T@ d9g qod
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AN
36. Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives and industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) ‘Cooperative society’ is an example of which source of ‘credit’ ? 1
(36.2) Explain the contribution of Cooperative Societies in rural
development. 1
(36.3) Mention any two sources of capital for Self-Help Groups. 2x1=2
SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :
A. The place where Gandhiji started Satyagraha for indigo
peasants. 1
B. The place where Gandhiji broke the Salt Law. 1

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Naharkatiya — Oil field
(ii))  Talcher — Major Coal Mines
(iii) Narora — Atomic Power Plant
(iv)  Tuticorin — Major Sea Port
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Fie: [HEIRa Jo7 Fac giteariaa qhignaar & o7g J97 &7 37 & & T/
g1

fabgT aier 3941 & 3¢ a7 | 5x1=5
(37.1) 39 TIF k1 91 faRgu g7 st 9 e ht @dl =@ 91 ol &
Tou ‘geamrg’ foram o |

(37.2) 3 ¥ W1 AW faRaw Sgf st 5 T0eh T arer o |
(37.3) TEtehiedl It &7 fopd Toa H f@ 7 2

(37.4) 39 TSA 1 AW TARGU S5l Ge=’ THE@ Tl Sl @H €I 8 |
(37.5) 3 ST 1 9 feiRge S|l 0 AMiHeh ot w3 feoad 7 |

(37.6) qARITE TG qoH Tl s 1 oo 8 2
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A
Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.
Attempt any five questions. 5x1=5

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo
peasants.

(37.2) Name the place where Gandhiji broke the Salt Law.

(37.3) In which state is Naharkatia oil field located ?

(37.4) Name the state where Talcher major coal mines are located.
(37.5) Name the state where Narora Nuclear Power Plant is located.

(37.6) In which state is Tuticorin sea port located ?

32/4/1-14 Page 25 of 27







gy . 37 % oo For question no. 37

TR T ATk TET-ATH
Political Outline Map of India

32/4/1-14 Page 27 of 27






